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Limits and Limit laws

1. Evaluate the following limits. Be sure that you show your work, so that you know how to show
your work.
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2. Evaluate the following limits. Be sure that you show your work, so that you know how to show
your work.
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3. Write an inequality that would be useful to find lim x” sm( ) using the Squeeze Theorem
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4. Please explain, in words, what the following statement means, and what it tells you about
lim f(x).
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5. Calculate the following limits. 0
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Continuity and differentiability

6. Explain why the following function is discontinuous at x =4. Could you change the function
(minimally) to make it continuous?
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7. Find a value of a such that the following function is continuous. Crsar Wt o ‘f‘ Shx="x
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8. Prove that sinx = x has a solution. (%—3 ) \ = 46\ -I-éS
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Derivatives and Derivative functions

9. Calculate the derivatives of the following expressions.
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